
C
re

at
ed

 b
y:

 w
w

w
.c

ia
nd

iss
en

y.
co

m

MOTOPLASTIC, S.A.
Pg. de la Ribera, 29
info@puig.tv
www.puig.tv

Tel. +34 93 849 06 33
- 08403 Granollers (Barcelona) SPAIN

info@puigusa.com
www.puigusa.com

DESCRIPCIÓN DESCRIPTIONID PIEZA/PART QTY REF.

Ref.: 9434

15 min
1 persona
1 person

6

7

5

2

3

4

1

Fácil - Easy

MMeddiia-Innnteeermmmediate

Difícil-DDDiffifificcuuullt

CÚPULA TOURING ADAPTABLE A  -  TOURING SCREEN FOR  -  TOURINGCHEIBE FÜRCÚPULA TOURING ADAPTABLE A  -  TOURING SCREEN FOR  -  TOURINGCHEIBE FÜR

DUCATI SUPERSPORT  ‘17-DUCATI SUPERSPORT  ‘17-

Nº 3
Nº 4

ALLEN

Nº 11

Pg. 1/2

Arandela de nylon M5x1

Tapón tornillo M5 ISO 7380

Tornillo Allen M5X11 Ø11 ISO7380

Arandela de goma Ø4,5 x Ø11,5 x 2mm

Cúpula Touring

M5x1 nylon washer

M5 ISO 7380 screw cap

M5X11 Ø11 ISO 7380 Allen screw

Ø4,5 x Ø11,5 x 2mm rubber washer

Touring screen

3 ARNV0000000245

3 TAPON________85

3 TORNI-AI----520

1

2

TORNI-EM5---761

TORNI-EC----597

3 ARAND-EPDM--722

1 9434H/F/N/WM3

Tornillo especial M5x9 Long. Hexagonal 10

Tornillo especial M5x9 Long. Hexagonal 15

M5x9 special screw Hexagonal lenght 10

M5x9 special screw Hexagonal lenght 15



INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

C
re

at
ed

 b
y:

 w
w

w
.c

ia
nd

iss
en

y.
co

m

MOTOPLASTIC, S.A.
Pg. de la Ribera, 29
info@puig.tv
www.puig.tv

Tel. +34 93 849 06 33
- 08403 Granollers (Barcelona) SPAIN

info@puigusa.com
www.puigusa.com

CÚPULA TOURING ADAPTABLE A  -  TOURING SCREEN FOR  -  TOURINGCHEIBE FÜRCÚPULA TOURING ADAPTABLE A  -  TOURING SCREEN FOR  -  TOURINGCHEIBE FÜR

DUCATI SUPERSPORT  ‘17-DUCATI SUPERSPORT  ‘17-

1

43

2

Pg. 2/2

DESMONTAJE
DISASSEMBLY

MONTAJE
ASSEMBLY

MONTAJE
ASSEMBLY

MONTAJE
ASSEMBLY

6

1

4

5

4

4

1

7 5
6

3

2

3

4


